ETILEYIEE

WA IEE (FBirE)
T 3% % R ITEEXS
EE BR B &t N b
&k 77,896,000 279,743,000 14017086 EI
158,326,000 43,521,000
WEBTRREB | oo 59,265,000 261,112,000 18,631,000( #2% AR
HIR 16,143,830 10% 6,042,560 8% 26,354,847 61% 48,541,237 17%
&k 747,833,000 4,647,713,000 29,059215| EI
3,193,808,000 706,072,000
= & B .
Bridtrs (KBEEO 712,968,000 4,612,848,000 34,865,000 | {2 EAH
HIx 330,162,120 10% 108,259,603 14% 306,328,609 43% 744,750,332 16%
&k 754,865,000 71,461,000 89,062,000 915,388,000
FREEH sl
HIxR 94,759,780 13% 18,713,224 26% 40,598,269 46% 154,071,273 17%
&k 1,253,917,000 93,624,000 146,329,000 1,493,870,000
TREASKR 47,213,000 | RBIZEE
HEIR 117,693,065 9% 32,338,502 35% 109,497,889 75% 259,529,456 17%
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BIrETEBRESR BEI

OMEBLERRBHM
X5 BEIf{E=0.3 0.3<BEl{E=0.4 0.4<BEIfE=0.5 0.5<BEIE=0.6
*5-D %*5-Q *5-Q Y*5-@
4 0.6<BEIfE =0.65 0.65<BEIfE=0.7
Y4-D *4-Q)
A3 0.7<BEI{E=0.75 0.75<BEHE =038
#*3-D *3-©@
X2 0.8<BEI{E=0.85 0.85<BEIE=0.9 0.9<BEIfZ=0.95 0.95<BEIfE=1.0
*2-D *2-Q #*2-Q3 *2-@
1.0<BEHE=1.1
*1
Y1 (BE7R)
WS
¥ﬁ Hhizk T
BEI Ix=%H
BELS M= BELS = 1t 4% = £ i 4% = nME
*5-D o] *3-@ 176 5FHLLTF 8,788 4BLLTF 0
*5-2 0 Y2-D MELLTF 18,092 45{BLLTF 0
*5-Q 2,636 *2-@ o] 15T o] 5{8LLTF 0
*5-@ 10,242 *2-® 0 2{BLLTF o] 5{5i#8 0
Y4-D 7,017 Y 2-@ 0 25{BLLTF 0
*4-@ 4914 Y 1(BEFF) o] 3EBELLTF 0
*3-D 1,895 FALSE 0 35T 0
a5 26,880 =&t 26,880
HhigiIv
BEI Ix=%H
BELS = BELS = it 4% = = i 4% = nmE
*5-D o] *3-@ 726 5FHLLTF 9,818 4BLLTF 0
Y 5-2 0 Y2-D 0 MELLTF 18,982 45{BLLTF 0
*5-3 2,767 *2- o] 15T o] 5{8LLT 0
*5-@ 8,862 *2-® 0 2{BLLTF o] 5{Ei8 0
Y4-D 7.363 Y 2-@ 0 25 LLTF 0
*4-@ 6,332 Y 1 (BT o] 3EBELLTF 0
*3-D 2,750 FALSE 0 35T 0
a5 28,800 &t 28,800
Hhizk v
BEI Ix=%H
BELS M= BELS M= 1t 4% = = il 4% T HE
*5-D 0 *3-@ o] 5FFH LT 7.824 AMELLT 0
*5-@ 0 Y*2-D 0 MELLTF 17,136 45{BLLTF 0
*5-Q 2,496 *2-@ 0 15{BLLTF 5{ELLTF 0
*5-@ 12,071 *2-® 0 2{BLLTF o] 5{Ei8 0
Y4-D 4,466 Y 2-@ 0 25{BLLTF 0
*4-@ 3,570 Y 1 (BT o] 3EBELLTF 0
*3-D 2,357 FALSE 0 35T 0
a5 24,960 =&t 24,960
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BIRRFEREER: BEI

ORFiIrE&
5 BEIE=0.3 0.3<BEHME=0.4 0.4<BEHME=05 0.5<BEHE=0.6
#5-@ *5-© #*5-Q #*5-@
x4 0.6<BEHME=0.65 0.65<BEME <0.7
F4-D *4-Q
3 0.7<BEIfE=0.75 0.75<BEME=0.8
#3-@ #*3-Q
A2 0.8<BEHE=0.85 0.85<BEIfE=0.9 0.9<BEME =0.95 0.95<BEHE=1.0
*2-D *2-Q *2-Q *2-@
" 1.0<BEHE=1.1
* 1(B%7F)
WEES
Hhigh I
BEI Ix#5E
BELS wM= BELS HM= il & & #ME i & HE
*5-D 0 *3-@ 3,634 5FALT 0 AMELLT 0
*5-@ 0 *2-D 4,963 1{ELLTF 0 45{BLLT 0
#*5-@ 0 #*2-@ 13,933 1.5(BLLTF 0 5{BLLT 0
*5-@ 0 *2-® 11,044 2{BLLTF 0 5{EiE 120,960
*4-D 0 *2-@ 6,044 25BLLT 0
*4-@ 0 Y 1(BXF) 22,162 3ELLTF 0
*3-D 0] FALSE 59,180 3.5{ELLTF 0
a&t 120,960 =&t 120,960
Hhigi IV
BEI Ix=%5E
BELS HME BELS 5 =<3 i #& & #ME i & H wmE
*5-D 0 *3-@ 762 5FALT 0 AMELLT 0
*5-@ 0 *2-D 6,550 1{ELLTF 0 45{BLLT 0
#*5-@ 0 #*2-@ 13,041 1.5(BLLTF 0 5{BLLT 0
*5-@ 0 *2-® 15,171 2{BLLTF 0 5{EiE 129,600
*4-D 0 *2-@ 6,456 25BLLT 0
*4-@ 0 Y 1(BXEF) 23,918 3ELLTF 0
#*3-D 0] FALSE 63,702 3.5{ELLTF 0
&t 129,600 &t 129,600
Hhizk v
BEI Iz
BELS #= BELS wM= i #& wM= fA% wm=
5-D 0 #*3-@ 4 5FFH LT 0 AMELLT 0
¥*5-@ 0 *2-D 5,776 1BELLTF 0 45BLLTF 0
*5-@ 0 #*2-@ 11,761 1.5(BLLT 0 5{BLLT 0
*5-@ 0 *2-® 12,746 2{BLLTF 0 5{Eia 112,320
*4-D 0 Y*2-@ 10,896 25BLLT 0
*4-Q 0 *1(BX7F) 20,798 3BLLTF 0
*3-D 0] FALSE 50,339 3.5{ELLTF 0
&t 112,320 &t 112,320
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BIREHBRE

it3 : BEI

OFE(akmikeE
X5 BEIfE=0.3 0.3<BEIfE=0.4 0.4<BEIfE=0.5 0.5¢<BEIfE=0.6
#5-D #5-Q #*5-Q #5-@
X 0.6<BEHME =0.65 0.65<BEHE=0.7
F*4-D *4-Q
A3 0.7<BEIE=0.75 0.75<BEHME=0.8
*3-D #*3-Q
X2 0.8<BEHME=0.85 0.85<BElfE=0.9 0.9<BEHME=0.95 0.95<BEIE=1.0
*2-D *2-Q *2-Q *2-@
o 1.0<BEE=1.1
Y1 (B%EF)
WE S
Hhigg I
BEI IExE
BELS = BELS HM=E {Hi 4% F HE i 4% H> wm=E
*5-D 23 *3-@ 0 5FRH LT 0 AMBLLT 0
*5-@ 8,885 *2-D 0 1H{ELLT 0 45{BLLTF 0
*5-Q 25,406 *2-@ 0 1.5(BLLTF 4,397 5{BLLT 0
*5-@ 7.335 *2-3 0 2{BLLTF 33,689 5{8#8 0
Y 4-D 5,640 *2-@ 0 25T 15,674
*4-@ 5,030 Y 1(BR7F) 0 MELLTF 0
*3-D 1,441 FALSE 0] 35{ELLTF 0
55 53,760 55t 53,760
Hhigk IV
BEI IExE
BELS = BELS M= 4% HE #i 4% H> wM=E
*5-D 51 *3-@ 191 5FRB LT 0 4EBLLTF o]
*5-@ 13,297 #*2-D 1{BELLTF 0 45BLLT 0
*5-@ 27,039 *2-@ 0 1.5(BLLTF 5,351 5{ELLTF 0
Y 5-@ 3,553 *2-3 0 2{BLLF 36,575 5{ZiE 0
Y 4-D 4,222 *2-@ 0 25BLLT 15,674
*4-@ 6,204 Y 1(BR7F) o] EBLLTF 0
*3-D 3,043 FALSE 0 35T 0
55 57,600 &t 57,600
Hhizk v
BEI Is&E
BELS = BELS M= {fli 4% H M= 4% & B=E
*5-D 2,321 *3-@ 0 5FF LT 0 AMBLLT 0
*5-2 28,598 *2-D 0] 1{ELLTF 0 45{ZLLF o]
*5-@ 6,521 *2-@ 0 1.5(BLLTF 3,593 5{BLLT 0
*5-@ 4,935 *2-3 0 2{BLLTF 30,653 5{EiE 0
*4-D 4,452 Y 2-@ 0 25{BLLTF 15,674
*4-@ 2,863 1 (BEFF) o] ELLTF 0
*3-D 230 FALSE 0 35BLLT 0
=&t 49,920 =&t 49,920
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BIRFEHEREF R BEI

OZBERABKRIAKRE

x5 BEIfE=0.3 0.3<BEHE=0.4 0.4<BEHE=05 0.5<BEH{E=0.6
#*5-D *5-Q #*5-B #*5-@
A4 0.6<BEIfE=0.65 0.65<BEIfE=0.7
F*4-D *4-Q
A3 0.7<BEHE=0.75 0.75<BEHE=0.8
#*3-D *3-@
% 0.8<BEI{£=0.85 0.85<BEI{E=0.9 0.9<BEHE=0.95 0.95¢<BEHE=1.0
¥*2-D *2-Q *2-Q *2-@
o 1.0<BEHE=1.1
Yo 1(BE7F)
mEES
Hhisk I
BEI IsE
BELS = BELS = {Hi+& H wM=E 1l #& F5 =
*5-D 75,454 *3-@ 6,807 5FALT 0 ABLLTF 20,787
#*5-@ 38,484 *2-@ 6,889 1{ELLT o] 45{BLLTF 883
*5-3 24,877 *2-2 2,432 1.5{8LLT 0 5{BLLT o]
*5-@ 18,311 *2-® 3,754 2{BLLF 3,391 5{Ei8 0
Y4-D 7,591 Y*2-@ 3,804 25{BLLTF 31,802
*4-@ 11,074 Y 1(BXF) 506 3{ELLTF 105,074
*3-D 1,617 FALSE 0 35{BLLT 39,663
=k 201,600 &t 201,600
Hhigk IV
BEI IsE
BELS = BELS HM=E {Hfi+& H wm=E 1l #& F5 =
*5-D 84,810 *3-@ 2,304 5FFH LT 0 AMBLLTF 20,787
*5-@ 36,983 *2-D 7.152 1BELLTF 0 45{BLLT 883
#*5-@ 29,310 *2-2 7,790 1.5{8LLT 0 5(BLLT 0
*5-@ 17,277 *2-® 1,829 2{BLLTF 3,427 5{Ei8 0
*4-D 4,473 *2-@ 3,090 25{ZLLTF 39,523
*4-@ 9,287 Y 1(BRF) 3,755 3{ELLTF 108,962
*3-D 7,940 FALSE 0 35{BLLT 42,418
=k 216,000 &t 216,000
Hhigk v
BEI IsE
BELS = BELS = {fi+& H wm=E i #& F5 =
*5-D 94,476 *3-@ 6,770 5FRH LT 0 AEBLLTF 20,787
*5-2 35,117 *2-D 1,293 1{ELLT 0 45{BLLTF 883
*5-Q 9,249 *2-@ 4,488 1.5{BLLTF 0 5{ELLT 0
*5-@ 13,467 *2-3 1,726 2{BLLTF 3,364 5{&Zk8 0
Y*4-D 11,133 Y*2-@ 0 25{BLLTF 24,363
*4-@ 1,584 Y 1(BRF) 0 3{ELLTF 100,941
*3-D 7.897 FALSE 0 35{BLLT 36,862
= 187,200 &t 187,200
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BIRFHEERRFHR BPI

OMEELEREHM

O %

Hhi 1T
BPI
PAL HE PAL HE PAL HE
01T 0 045UF 0 08LLTF 0
0.15F 0 05LTF 0 0.85LF 0
02T 0 055UF 0 09LLTF 0
0.25F 0 06LLTF 0 0.95LF 0
03T 0 065UF 14,880 10T 0
0.35F 0 0.7LLTF 10,080
04T 0 0.75UF 1,920
&t 26,880
iV
BPI
PAL HE PAL HE PAL e
01T 0 045L1TF 0 08LLTF 0
0.15F 0 05LLF 0 0.85LLTF 0
02T 0 055K 0 09LLTF 0
0.25F 0 06LLTF 0 0.95LLF 0
03T 0 065LLTF 11,280 1.0LLF 0
0.35F 0 07T 15,600
04T 0 0.75LTF 1,920
At 28,800
thig V
BPI
PAL HE PAL HE PAL HE
01T 0 045UF 0 08LLTF 0
0.15F 0 05LTF 0 0.85L1F 0
02T 0 055UF 0 09LLTF 0
0.25F 0 06LLTF 22,800 0.95LF 0
03T 0 065U 2,160 10T 0
0.35F 0 07T 0
04T 0 0.75UF 0
At 24,960
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EIRFHEERERR BPI

ORFitrE

WESES

thig I
BPI
PAL HE PAL HE PAL HE
01T 0 0.45L1F 0 08LLTF 6,480
0.15LTF 0 05T 0 0.85LLTF 2,160
02T 0 0.55LLF 0 09LLTF 0
0.25LLF 0 06T 7,560 0.95LLF 0
03T 0 0.65LLF 63,720 10T 0
0.35LTF 0 07T 39,960
04LLTF 0 075 TF 1,080
At 120,960
Hhig IV
BPI
PAL HE PAL HE PAL £
01T 0 045K 0 08LLT 8,640
0.15LF 0 05T 0 0.85LLF 0
02T 0 0.55LLF 0 0.9LLTF 0
025LTF 0 06T 3,240 095K F 0
03T 0 0.65LLF 59,400 10T 0
0.35LLTF 0 07T 57,240
04T 0 0.75LTF 1,080
&t 129,600
Hhigk V
BPI
PAL HE PAL HE PAL E
0.1LLF 0 0.45LLF 0 0.8LLF 0
0.15LTF 0 05T 0 0.85LLF 0
02T 0 0.55LLF 7,560 09LLTF 0
0.25LLF 0 06T 96,120 0.95LLF 0
03T 0 0.65LLTF 0 10T 0
0.35LTF 0 07T 8,640
04T 0 0.75LLF 0
A&t 112,320
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BIRFHEHEREKER BPI

OFERBRARE

O %7

Hhig 1T
BPI
PAL HE PAL HE PAL HE
01T 0 0.45LLF 0 08T 0
0.15F 0 05T 0 0.85LLF 0
02LLF 0 0.554F 3,840 09LLTF 0
0.25F 0 06T 31,200 095 F 0
03T 0 0.65LLF 14,880 10LLTF 0
0.35F 0 0.7UTF 2,400
0.4LLTF 0 0.75F 1,440
At 53,760
i IV
BPI
PAL HE PAL HE PAL HE
01T 0 0.45L1F 0 08T 0
0.15F 0 05T 1,920 0.85LLF 0
02LLF 0 0.554F 49,440 09LLTF 0
0.25F 0 06T 3,840 095LLF 0
03T 0 0.65LLF 2,400 10LLTF 0
0.35F 0 07T 0
0.4LLF 0 0.75F 0
At 57,600
Hhig Vv
BPI
PAL e PAL e PAL E
01T 0 0.45LLF 0 08T 0
0.15F 0 05T 43,200 085U TF 0
02LLF 0 0.554F 6,720 09LLTF 0
0.25F 0 06T 0 0.95LLF 0
03T 0 0.65LLF 0 10LLTF 0
0.354F 0 07T 0
0.4LLTF 0 0.75F 0
At 49,920
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EIRHERRENER BPI

OZRERAKIKSE

O %

g I
BPI
PAL HE PAL HE PAL HE
01T 0 0.45L1F 0 08T 9,000
0.15LF 0 05T 0 0.85LLF 0
02LLF 0 0.554F 0 0.9LLTF 0
0.25LF 0 06T 10,800 0.95LLF 0
03T 0 0.65LLF 147,600 10T 0
0.35LF 0 0.7UTF 28,800
04T 0 0.75LLF 5,400
At 201,600
i IV
BPI
PAL HE PAL HE PAL HE
01T 0 0.45L1F 0 08T 0
0.15LF 0 05T 0 0.85LLF 0
02LLF 0 0.554F 99,000 09T 0
0.25LF 0 06T 102,600 0.95LLF 0
03T 0 0.654F 12,600 10T 0
0.35LUF 0 0.7UTF 1,800
04T 0 0.75LLF 0
At 216,000
thig v
BPI
PAL HE PAL HE PAL HE
01T 0 0.45LLF 0 08T 0
015 F 0 05T 19,800 0.85F 0
02T 0 0.554F 153,000 09T 0
0.25LF 0 06T 14,400 0.95LLF 0
03T 0 0.654F 0 10T 0
035 F 0 07T 0
04T 0 0.75LLF 0
At 187,200
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